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Q1 Tensor manipulation + plastic normality
20 attempts, Average mark 68%

Most students did the tensor manipulation part of the question well but struggled on
using the plastic normality to calculation the plastic deformation of pressure
dependent solid.

Q2  Drucker’s postulate & plastic upper bound
7 attempts, Average mark 60%

An unpopular question with students struggling to do the bookwork part of proving
the upper bound theorem from Drucker’s postulate

Q3  Application of viscoelasticity

15 attempts, Average mark 71%
Well attempted by most students with some students struggling on the Laplace
transforms.



